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What is the 71wn saying — TBRP ONR

Overview'

The x7n3 cites from the 73wn, the phrase 7y21:7 *172 MW 77 K2 and asks °Xn
7nXp. The question of the X773 is unclear. The mwn is (seemingly, obviously)
stating that we cannot derive 7van from MW and vice versa. What is the
question Rp *Xn?!

mooIn explains:
$ONNP IND NNNNP D7YAY 291 KD INYI 991 KD INN YWIN9Y '8 XYT DIVN

Since we cannot explain this »177 8% of the 71wn as all other »77 X% in the
various mn3, therefore the X713 wonders and asks MNP Nn!

Summary
The expression 121 >777 X7 does not indicate that we are explaining why W

7vamy cannot be derived from each other.

Thinking it over
How does the s'®7n3 answer address the question the way nooin explains
it2!’

" For a clearer understanding of this N0, one should review the N1OOIN on *777 R? 7"7 K,2 7.

? Usually the expression of (12117 X%, or) 121 711 °X1 X2, means that the X1 of this case is not like the
X1 of the other case (meaning that this case is less 7n than the other case). If we would apply this here
by nvam M, it would mean that the X117 of MW is not like (it is less than) the X711 of 7yan (meaning that
7¥an is more 7). In that case if the 770 would have written 7w (which is less 7m) then certainly nyan
(which is more 7111) would be 21. What, therefore, is the 71wn trying to teach us?!

? See *"21 7"910 ,1"n1 who interpret this Moo differently. This n190 is referring to the second Xp *Xn
(on the 1 71 891 of the 73wn). Concerning the first 7Xp *X» our MO agrees with *"w1o. The X3 was
simply asking what relevance is there that 7211 71 are not similar. The X713 answered that the 71w is
explaining that 7y2m M cannot be derived from each other. However, what is the second Kp *Xn?
Seemingly the 71wn is continuing to explain why we cannot derive WX from v 7. On this question
m»oon explains that seemingly this expression cannot mean that we cannot derive WX from 7vam 7w, for
since the 73wn states WX 72 191 711 77 X9, this means that 7vam 1w are less 7van than wX. If this is so, then
you can certainly derive @R from yam . The X7n3 replies that this 711 77 891 is different than always, and
here it refers to the X9, not the Xm11; that 7371 W do not have the X7Ip of WX that it has no o1 mA.
Therefore even if the 7m0 would have written 7v2m1 7 we could not derive WX from them.
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